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Al 58 W = 1
W 1323.0 DW: W DW: W DY
DV: 1184.4 TW: 177.4|DV: ™W: :DW: V:
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o AFH 1 KS F 2312:2001 o 71&AR} : Hen 2 LY
O AIREE L Z(eA) oA 3 A A5 A
= = 9 ¥ 2214.078 onf A 5892.9¢g
9 2214.078 cm’ 5892.9 g
2! T 1 2.687
(N E+E=)F7(g) 1 | 10311.1 ' o | 104815 '3 | 10645.5
I I
oA 27 A (g) 44182 i 4588.6 i 4752.6
AOWE Y t(g/cr) 1.996 i 2.072 i 2.147
WW: | 1385.4/DW: IWw: | 1328.2|DW: W 1474.7|DV: |
DW: | 1312.9|TW: | 187.3;DW: | 1248.6|TW: |  206.2|DV: 1362.1|TW: [ 187.9
Ty : 72.5Ws:  1125.6): 79.6 Ws:  1042.4|Ww: 112.6 Ws:  1174.2,
W: 6.41 W: 7.6 W: 9.6
G B | |
WW: | 1401.6[DV: bww: | 1229.1/DW: W: | 1295.9(DW: |
DW: | 1356.4|TW: | 174.8 |DW: | 1153.5|TW: | 206.4|DV: 1199.3|TW: | 209.1]
R 45.2 Ws:  1181.6: 75.6 Ws:  947.1[Ww: 96.6Ws:  990.2
W: 3.8! W: 8.0 W: 9.8!
I
Gkl V(%) 5.1 i 7.8 i 9.7
Az = Yd(g/ar) 1.899 i 1.923 i 1.957
q &7 = G | |
Az 9 v o/op) LB e - Bk ]
(A B+2=) T (g) 4 10730.8[ L5 ] 10741.5 ! ] 10750.6
A2 A 7FA () 4837.9 i 4848.6 i 4857.7
R %Y t(g/en) 2.185 | 2.190 | 2.194
WW: | 1571.8|DW: lyw: | 1348.7|DW: W : 1405.6|DV:
DW: | 1438.5| 204| 179.3IDW: | 1210.4|TW: |  176.5|DW: 1244.1)TW: | 177.1
Ww:  133.3Ws:  1259.2)Ww: 138.3 Ws:  1033.9|Ww: 161.5Ws:  1067.0
W: 10.6; W: 13.4! W: 15.1!
g o+ v = A -
WW: | 1507.2/DW: lyw: [ 1216.9]0N: W 1299.7|DV:
DW: | 1367.5[TW: | 177.91DW: | 1096.1|TW: | 179.7[DW: 1156.1|TW: | 180.0
Ww:  139.7 Ws:  1189.6]Ww: 120.8 Ws:  916.4|W: 143.6 Ws:  976.1
W: 11.7 W: 13.2] W: 14.7
3t EE] W(%) 11.2 i 13.3 i 14.9
AZEYd(g/an) 1.965 | 1.933 | 1.909
@ &7 = dH
52w e e 2.065 1.980 1.919
H] Il
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9 2= AE

o Al I W & ¥E-43
o Al & WM KS F 2308:2006
o AW EE ()

o 71 HeH 7 SE

oA @ A Asd

= A il < 1 2 H] 31
v & H 9 H 3 24 31
H o % Wt (g) 79.334 81.913
H W + /75 Wai (g) 327.357| 329.843
Waig @3S wo] == Ti(TC) 18.4 18.4
2= x(O) d v B9 9% @
Sw Ti(C) o W Zo] Wi 1.000090 1.000090
Wai - Wf (g) ® 248.023 247 .93
Aol &% (Tx)ol digt I A %-v]H
=
fmol e Wax (g) = @ x 327.379]  329.865
2.9 F A F
HFH + =1F2A 8 + B T%F
o8 I T ays 101 | 345,633
Wh(g)
hs 54 we] yaw=ng
Hagel % () S I
xR AR T Wo (g) 25.084 25.093
T(C)Y wo Wo
59 HlF = 2.691 2.691
(TC / TC) Wo + (Wax - Wh)

2L tgt 5o W (g/cn) 0.99861| 0.99861

E 9 9 Z=(g/cr) 2.687 2.687
g 4 # 2.687 (g/cxt)
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Al E : KS F 2302:2002 o 7|&AAA :xEH 2 LY
e £ o Al @ A :USH
X2 HES ASZNE
o1 A)(mm)| 75 53 37.5 | 26.5 19 9.5 | 4.75 2 0.85 | 0.425| 0.25 | 0.106 | 0.075
SUE(%) | 100.0 | 100.0 | 100.0 |100.0 | 93.4 | 86.9 | 78.7 | 68.8 | 55.2 | 32.3 | 23.1 15.7 14.7

=
Z(M)| 0.046 | 0.033 | 0.021 | 0.012 | 0.009 | 0.006 | 0.003 [ 0.001 | 0.0001
Z(%) | 16.6 15. 1 13.5 12.0 11.3 10.5 9.0 8.6 0
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SAYTAME(H2H AE)

o AlPHE : E-43 o Algda  2016.4.17.
o AgHy : KS F 2302:2002 o 7]%&AA FH2E 2
0 MNUEE | F(e) oA ¥ A AsH
. NO.1OXIOI Y2 AIEE 228 A1
4 DIAXS
HBHARS SIAZSAHM) CATAIZI AIZ2H W)
=
=7 (BB EAB+EII) 3645.7 (Wi+221) 2 1,402.0 g
|2 562.5 ZJ| 2 562.5 ¢
HHAIZO BIHAETLHMW) 3083.2 W1 839.5 g
1. omXl SBHAIBO EAH =F
NO 1 NO 2
Ww 606. 1 WW 596.5
Ow 551.6 Tw 178.6 Ow 546.7 Tw 206.4
Ww 54.5 Ws 373.0 Ww 49.8 Ws 340.3
W= 14.6% = 14.6%
Hoe sl 14.6%
2. MHIAZAZ2H(WO) = W/ (1+w) 2689.9
3. 2mmAl SUAHAZAZL2H (W2)= W2=WO0-W1 1850.4 g 1850.4
4. P2.0(ZH2.0mmAlA 2 JIHSUE)= W2/W0 68.8% 54 .6%
5. 2mA0l 2 AIRQ M
H A 1 2 1 2=1/W0
- o o geA 2+ SENE o oo IR pJE= s
Mo poleg 8IS | g5e5)| =g | @7FE*| mse | as
75.0mm 1 437.10 437.10 0.00 0.0% 0.0% 100.0%
53.0mm 2 461.90 461.90 0.00 0.0% 0.0% 100.0%
37.5mm 3 471.60 471.60 0.00 0.0% 0.0% 100.0%
26.5mm 4 469.50 469.50 0.00 0.0% 0.0% 100.0%
19.0mm 5 456.80 633.10 176.30 6.6% 6.6% 93.4%
9.5mm 6 489.70 667.00 177.30 6.6% 13.1% 86.9%
4.75mm 7 524.00 742 .80 218.80 8.1% 21.3% 78.7%
2.0mm 8 448.90 716.00 267.10 9.9% 31.2% 68.8%
* HEANZEA: 839.50 g
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o Al¥HIT  E-43 o AlddxAt 2016.4.19.
o Al KS F 2302:2002 J%AQAA - zgd 2 LY
o NPER 3 (1.4 oA & A UsH A =7
(ZBIAZTAIZH+ZD)2A 692.21 ¢ £9o8r4=H|(w) : 13.3%
2I12H : 577.00 g £o/2% (Gs) : 2.687
SIHATZASE2EA W; : 115.21 g AMEKXLE (PI) N.P = b&HA AHMLUES
HAXAIZE2H : Ws=100W; /(100+w) : 115.06 g
P2.0(2&d2.0mmHlMe JIMENS: 68.8%
1. BIAAEXANZY &4Hl SH(XAE$H])
NO : 1 NO : 2 NO : 3
W = 1323.0 W = 1327.4 W =
oW = 1184.4 Tw = 177 .4 W = 1197 .1 Tw = 180.6 oW = Tw =
Ww = 138.6 Ws = 1007 Ww = 130.3 Ws = 1016.5 Ww = Ws =
W= 13.8% W= 12.8% W=
s =il 13.3%
2. HISH AE
=% =InNEL HISHAS Z g Zo(mm) o ZH = 1A A ‘ meo| 2t
SN i) [Zx22 [ ¢ Jmesoim] U1 T VUt | JGn/absw [E0ezEom)] oATE [EEATR) 1 PIESAS) Lo
10:01 1 0.0190] 0.0190 132.6 132.6 11.5165 0.0040 0.0457 25 0.0020f 0.0210 29.0% 16.6%
10:02 2 0.0170] 0.0170 136.5 68.2 8.2613 0.0040 0.0328 25 0.0020f 0.0190 26.3% 15.1%
10:05 5 0.0150] 0.0150 140 .4 28.1 5.2984 0.0040 0.0210 25 0.0020f 0.0170 23.5% 13.5%
10:15 15 0.0130] 0.0130 144 .2 9.6 3.1009 0.0040 0.0123 25 0.0020f 0.0150 20.7% 12.0%
10:30 30 0.0120] 0.0120 146.2 4.9 2.2073 0.0040 0.0088 25 0.0020f 0.0140 19.3% 11.3%
11:00 60 0.0110] 0.0110 148 . 1 2.5 1.5711 0.0040 0.0062 25 0.0020f 0.0130 18.0% 10.5%
14:00 240 0.0090] 0.0090 152.0 0.6 0.7958 0.0040 0.0032 25 0.0020f 0.0110 15.2% 9.0%
10:00 1440 0.0085] 0.0085 152.9 0.1 0.3259 0.0040 0.0013 25 0.0020f 0.0105 14..5% 3.6%
HLIAHAS EF (Cm) 0.0009 [1:2H 229 IZHA =24&1.0009HX122 0l (mm) 107.59
Ws/V (g/cm) : SEH 1me & HAXAIZ 2 12:8E 28 220 i—%ﬁ 1.0507t X1 21 2 01 (mm) 10.87
Lb : = 2229 20l (mm) 136.84
1/(Ws/V): 8.69 cm/g Gs/(Gs—0.99678) *rw 1.590 g/om Vb : —?’—E 229 21 (o) 57.50
A HAABIHO SHEHA (o) 58.84
3. Mot
Hl & 1 2 3=2-1 4=3/Ws 5 6 7=6%P2.0
- = H2AS+ | ©2A2
A Yz |82 25 o 5 M= &R E JIESNE |EEIJIE SsS
2| ZAlg ZFAlg
0.85mm(NO.20) 1 437.3 460.1 22.80 19.8% 19.8% 80.2% 55.2%
0.425mm(NO.40) 2 369.7 407.9 38.20 33.2% 53.0% 47 .0% 32.3%
0.25mm(NO.60) 3 380.0 395.4 15.40 13.4% 66.4% 33.6% 23.1%
0.106mm(NO. 140) 4 345 .1 357.5 12.40 10.8% 77 .2% 22.8% 15.7%
0.075mm(NO.200) 5 351.3 352.9 1.60 1.4% 78.6% 21.4% 14.7%




ATTERBERG 3._"71|

o AANE 1 E-43 Alddat 12016.4.19.
o AFH TKS F 2303:2000 o 71%1‘ A=t 49“7 H X
o NBFE : H(=) oA d A SN FH
M BHA
NS 1 2
7 H 5
g7 2A+H e S 2
E7|FA+oEE 7
= 2o 7 A 0 0
g 7] 2 7
of 2 Al 8 2 A 0 0
] #DIV/0! #DIV/0! #DIV/0! |A|RME ot
A M BHA
NEEE 1 2
R
7 #H 3
EBI|2A + H2E2A
E7| 77 + otEF 2
2 o 7 7 0 0
g 7] 2 7
of 2 Al 2 27 0 0
st £ dH|(%) #DIV/0! #DIV/0! | #DIV/0! |A=M & otE
p ™
o A 517
z
pln
101
I_IE)
ar
0
10 10.0 100.0
= (W) %
N
Al A 1}
AME | HME SMEIS
NP NP NP



